R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB)\C - Drawings\TX-4651.54.dwg, TX-4651

POWERED BY|W, iR, [
o0 wii g 4% )
E s i "‘3\3% 35 2o
I H--E A N E o
o *"’si‘-’\' iz “B9 | £+ 2 U8
wi Qrifin azg wiu gR oy
. OV jwiz SNE e, db io
s iz FREN|H G &
DOOR COMPONENTS MADE IN THE USA ~— 37.5" MAX. FRAME WIDTH ‘5,%/;;.‘ 9T KSR N|(EE E:og 65
‘s, .: z :-' "".' . 3 o 0
S SN I
Nl & o8¢ §R
o 038%2 u
£ 5% 958
o 4.5
& 502 gp
& mon 8 5
0 =
: : D E
paque Steel Door Wl
3 [
[+
[=]
"NON-IMPACT"
)
INSWING / OUTSWING ZE
) 99
— n
L
o <32 ZL
£2 o& : |85
- D >_
<2 Z 8 © 2 |z & <
SE & ¥y
5 8o X |8
~E =Y 5 o £o
3] = = o %m
= 5] |~ &
EVALUATED FOR USE IN THE STATE OF TEXAS - & g °
The Steel Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 international Building g %
Code {IBC), Sections 1404.13, 1409, 1709.5, 2403 and 2404 subject to the =
following conditions: S
(&)
1. Anchors shall be as listed and spaced as shown in the details. Anchor : o
embedment to base material shall be beyond wall dressing or stucco. S %
2. When used in areas requiring wind-borne debris protection this product is 12 |
required to be protected with an impact resistant covering that complies X ; %
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. g b I P
3. Allowable design pressure requirements must be equal o or less than the Lg N ‘a‘
design pressure rating shown in the design pressure chart, sheet 1 of this 5 o |x
drawing. @
4. Conditions not covered by this drawing are subject fo further engineering 1=
©analysis. . : : g g
<
2
N\ fd
Q=
TABLE OF CONTENTS Q E§
SHEET# | DESCRIPTION = -
1 Typical elevations, design pressures & general notes - %
2 Door panel details , INEC pli) L oATE: 11/08/16
3 Horizontal & vertical cross sections SCAE. NT.S
4 Vertical cross sections X PINE +50.0 -50.0 +70.0 -70.0 p—— - JK
5 Frame anchoring N
X "Fusionframe™ | +50.0 -50.0 +60.0 -65.0 E::;ns: - LFS
TX—-4651
SHEET _1 oF _5

© 2016 R.W. BUILDING CONSULTANTS ING.




R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-850 Masonite ST Opaque (LK, DB\C - Drawings\TX-4651.54.dwg, 2.7

STILE {LVL)

1.758"

0.81"

m HORIZONTAL CROSS SECTION

STILE (LVL)

0.81"

INTERIOR 291"
EXTERIOR
LOCK BLOCK
(WOOD: 12" LONG)

\2/

35.75" DOOR
WIDTH

P

79.25"' MAX. PANEL HEIGHT
e

. DOOR PANEL
Masonite

Steel (Wood Edge)

DOOR SKIN: 25 GA. STEEL (0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

TABLE

SEE HARDWARE

KWIKSET

LATCH: KWIKSET SIGNATURE SERIES {991)
DEADBOLT: KWIKSET SIGNATURE SERIES {980/985)

TOP RAIL

(WOOD) ~_|

25 GA. STEEL
DOOR SKIN

N

0.81"

INTERIOR

FOAM CORE

BOTTOM RAIL
{(WOOD COMP.)

|

1.75"

/" 2"\ VERTICAL CROSS SECTION

\2/

DTN u
Tt H c M
STRXE 3
-~ ‘5,.-*“:-. . o ¢ 7]
SN S 53 o Do
i : H [ i
=y [ nk % O wo
1N HTH S .8 z<
Sul i i wu dm B
o9& P 2 Z .. Zd
201 A iwiy W N
Put U iz s2 L0532
Oy, IO 3 8o ZZ
QL. ini € fto 99
)120‘.,".525 > 5‘;‘0. %F
ltl.:*’:?-}f gog EE
i 5 S8R, g
o % gg W
® s0¢ Q%
g ds5 ¢
¢ 25& %E
o 0ot 5%
1 D
5 §§
E 1)
3 l—o
(4]
[+
[a]
%3]
=
E
< o
eoy —d
g |y g
S |3 =
& 2l x
EXTERIOR 2 %
£ o 8
O
2 o
o} &
14 <C
o a
A I P
Li 1o
L
[
)
&0
$)
8l
£lo
SIB| |»n
A pd
0i® 1O
5| 2
Elol 1@
HalE
S
g
: o
o 85
o <
o3}
NIE
[ N 1S
S 1o
\ - 12
pd
oaTE: 11/08/16
ScAaLE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4651

SHEET 2 OF 5

© 2016 R.W. BUILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB\C - Drawings\TX-4651.54.dwg, 3.7

M, 1
5 2X FRAMING 2X FRAMING ot al, f’shzlaz R .
2 _ - (G>=042) - G>=042 | Fg" i BYl |82 o g
/ - ~ ~p P N 0 m 6,?.¢ £% 2 ki @
} iy 2C PNiwie 2 Npe £
b EXT. SHEATHING . . \ EXT. SHEATHING  f{] s o %\3, 22 ¥ Kty 4 22 ;;
4 e 1 o n, iQF N @
E m [ ] “l I E:” \ / 2 DRYWALL f o | % HIE 2 ig g o8
| b U iS PN 8|7 3Es gé
! #10 X 2-1/2" PFH o Miidone™ 58® &2
10X 2-1/2 1 | _~#10X3"PFH & OV &
WOOD SCREW ! L] WOOD SCREW 3 287 by
1/4" MAX, 1/4' MAX. Il | g 255 o
SHIM SPACE \ RV SHIM SPACE \ | |4 a'.': Bok g%
bzg P -
N | °© SHE s & K47
N ° | L : a
X ' = 00} 0oo) 8
DOOR PANEL e ? DOOR PANEL ~_ \
I l HEAD: PINE HEAD: "FusionFrame" (1-PIECE) g
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP E%’
| ' (QEBD/PE 650) (QEBD/PE 650) < =5
EXTERIOR W INTERIOR \\Y =T It
e EXTERIOR INTERIOR EXTERIOR INTERIOR = |92
a1l o
. 1] NQ:
{2\ VERTICAL CROSS SECTION /"3 "\ VERTICAL CROSS SECTION S b
m@\ ﬁ\ m \y Outswing shown - inswing W Outswing shown - inswing 3 o 2
W \U \{/W also approved also approved 2 N
& £
A
0.15" Gl &
174" MAX. ] = C'SINK 1/4" MAX. "
EXT.SHEATHING ~ SHIMSPACE (TYP.) ' SHIM SPACE EXT. SHEATHING %|S
\ JAMB: "FusionFrame" / ~lo
“ " " 1 OR 2-PIECE SIES
075" —=—=— 075 —’«———1 =075 \ / JAMB: PINE ( \ ) _ AN
gy i S S " SRR SR AL A4 A S S —_ ol 192]
. #10 X 2-1/2" PFH ’ﬁ e : lol £
= #10 X 2-1/2" PFH ol |6
COMPOSITE ZX FRAMING WOOD SCREW WOOD SCREW Els| @
4 SNAP-ON (G>=0.42) / 2X FRAMING Elo o
CAP \ ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP (G >=0.42) 8I=
N\ (QEBD/PE 650) (QEBD/PE 650) / 3
- . . . . =]
3 i / EXTERIOR e
(] NEE
’.—
/ = LvL N Z S 18
D " :." - — 14/ BEE NG T ] ;t‘, i = g
Di R / S : \ -l 2
oatE: 11/08/16
P s T . N—— / INTERIOR PN — st NTS,
#8 X 2-1/2" PFH WOOD SCREW #8 X 1" PFH SMS owe. B JK
JAMB / HEAD JAMB / HEAD JAMB £ HINGE LATCH #8 X 2-1/2" PFH ox on LS
PINE "FusionFrame” "FusionFrame” #8 X 3/4" PFH SMS STRIKE PLATE WOOD SCREW DRAWING NO.:
(1-PIECE) (2-PIECE) / 1"\ HORIZONTAL CROSS SECTION Y4651

\:_5/ Inswing shown - Qutswing also approved

SHEET 3 OF 5

© zo18 R.W. BUILDING DONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB)\C - Drawings\TX-4651.54.dwg, 4.7

A\

INTERIOR EXTERIOR

DOOR PANEL
L
ENDURA

DOOR SWEEP

/

[DBK-R)

\\
INTERIOR EXTERIOR
DOOR PANEL
ENDURA \
DOOR SWEEP
iGN~ #. 4100000
[\

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

ENDURA
WEATHERSTRIP o // DOOR PANEL
(QEBD/PE 650),  INTERIOR EXTERIOR ENDURA
WEATHERSTRIP,  INTERIOR EXTERIOR
QQQ (QEBD/PE 650)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/“4 "\ VERTICAL CROSS SECTION

\U Inswing Adjustable Threshold w Inswing Arficulating Threshold w Oufswing Bump Threshold W Outswing Bump Threshold
N GEE
3 Ve S
!* 4.56" ! | Bl 4.56“ 1 4.56" 1 ! 4.56" !
1 INSWING ADJUSTABLE THRESHOLD 2 INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
LAIL4565 ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAI4565RDS
l. 4.56" ! ! 4.56" 4.56" ! l—-———— 4.56"
s INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
ZACL4565 ZACA565FN LACLAA4565 IACAA4S65FN LACA4565RDS
| | TR
[ e Tyunr s
~ ~ "*" =
* L ! ] [ A
B ] | [ . ; I 4.56 -1 )
1 OUTSWING THRESHOLD 12 QUISWING THRESHOLD ZOB4565RDS 14 OUTSWING THRESHOLD
ZOBASS5FN 10814565 [ MAX. DESIGN PRESSURE = 55 PSF | FOB4566

ui
ax
FEpn 0
£2 o 9
©
[e]
£* 8 Zr
ou 9B o1
h:ﬂ. = N W
.po
c - J%
3 gc‘g’; Sz
3 ££8 o8
2 d5e nkE
2 S [
n72 W
Z0m o
v om ma
[:IS‘ O N
9 4
O xzZ
o Z O %h-
8 =M g o)
g 2450
® RBoi i
a ok
= of
2
R
o
; 2
[+
o
)
=
o
=
O
vy
N
& 7
X .
a 5l ©
=z o X
Ll s| ©
7
<
2 S
i b
= 14
o [\
3 oY
o &
e <
o Q.
e
Ll
W
o)
o
|0
O
3l
Elo]
old| |n
A pd
o|®| O
SR 2
ol [
SRl =
)
S|
Ll
&
)
<
»
R |
N
S |2
1 lo
z
oate: 11/08/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4651

SHEET 4 of 5

@ 2016 R.W. BUILDING DONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-850 Masonite ST Opaque (LK, DB)\C - Drawings\TX-4651.54.dwg, 5.7

]
s m© 2X FRAMING HEAD ANCHORS: e
Q o) g (BY OTHERS) #10 X 2-1/2" WOOD SCREW (PINE JAMB) 53 o g
Lo o #10 X 3' WOOD SCREW (1-PIECE JAMB) Ex 3 i
~t 9 O Y 5} ) E
=270 4" oW w9
© a =~ (1YP) Ko s
$ 54 ® 2
. ___ tf 282 5
. SEE HINGE ! N 1 T 384 @
T EEB‘/ DETAIL 1 o 5 887 ¢
i o z 2 o x2
S 3= 2as B g 8, &
. L - V = O 250 2
® ' ™~ JAMB ANCHORS: =79 E 2%% &
. #10X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) 8 m g § @
© N #10 X 3" WOOD SCREW (1-PIECE JAMB) 5 g
o £ g
0 3 2]
O
[w]

CERTIFICATE OF REGISTRATION # F—11852

EB& - - }E
SEE HINGE 1
DETAIL 2 | SeeSTRIE |- .
B T PLATE DETAIL v ©
=<5 &
) | 3E s |8
ih U 2 13 =
- - M~ O LlZJ g =
AT bl g
- % ‘ B Nl
SILL ANCHORS: 5 o ™
HINGE JAMB #10 X 2-1/2" PFH WOOD SCREW STRIKE JAMB 3 ;
1/4" X 2-3/4"ELCO OR & <
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING {TW CONCRETE SCREW =
CONCRETE (MIN. 3000 PSi) X 4 I
WOOD (G >=0.42) "
Q
— DEADBOLT SECURITY IS
STRIKE PLATE O
#10 X 3" PFH Ws —==] S|E
S| 4
#8 X 2-1/2" PFH WS —=— o/ 1O
LATCH STRIKE E Sl [@
. PLATE ol @
S
STRIKE PLATE DETAIL L‘§ E’
: . Al PaY
CONCRETE ANCHOR NOTES: 215
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ;f
edge distance to mortar joints. < |
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo #8 X 2-1/2" PEH WS ) | |z
maintain the min. edge distance to mortar joints, additional concrete anchors 7 P #8 X 2-1/2" PFH WS § o
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. s n S
% | i =z
i - -® ||
#8 X 1" PFH wsé:. I =~ #8 X 3/4" PFH WS #8 X 1" PFH wséz i S 48 X 3/4 PFH WS owte: 11/08/16
~— 4" X 4" HINGE 4 X 4" HINGE SCALE:  N.T.S.
: DWG. BY: JK
Imw " " s " CHK. BY: LFS
rapconN® | 1/ 1-3/ 1-1/ 4 HINGE DETAIL 1 HINGE DETAIL 2 BRAWING O
ELCO . " " " TX—4651
ULTRACON®| 174 1-3/4 ! 4 sieer 5 or 5

© zo1e R.W. BUILDING DONSULTANTS INC.



